(D) 14th

) 4. What is the GDP per capita rank
" Bihar in India?
;‘ (4) 33rd

(B) 35th

~ (B) Alternative  employment  is
available

(C) Where more people are employed
than required

(D) Where less people are employed
than required,

7. The value of money or the purchasing
power of money varies

{A) inversely with the price level

(B) directly with the percentage of
employment

{C) directly with the price level,
(D) directly with the interest rate

8. Which of the following departments
of the RBI is responsible for issuing
currency notes?

(A) The Issue Department,

(B) The Loan Department

(C) The Agricultural Department
(D) The Advisory Committee

9. A systematic record of all economic

transactions completed between
residents of a country and the rest
of the world in a year is known as
(A) Net Capital Flow

~ (B) Absolute Flow.
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(B) market of government secu

(C) market of money
(D) bullion market
14. Which is the first State in India

launch a policy to establish Special
Agriculture Zones (SAZs)?

(A) Gujarat
{B) Uttarakhand.
(€] Haryana
(D) Uttar Pradesh
15. Which is India’s highest commercial
airport?

(A) Kushok Bakula Rimpochee
Airport

(B) Sheikh ul-Alam International
Airport

(C) Shimla Airport




the US House reconﬂ_:_k
following?

(A) Gun-safety Legislation
(B) Child-safety Legislati
(C) War-safety Legislation
(D) Clean-safety Legislation

Who was Shireen Abu Akleh killed
May 11, 20227

(A) 'Afghanistan TV Journalist.
(B} Al Jazeera TV Journalist
: = (C) Arab TV Journalist
[. ] Shan (D) Irag TV Journalist
T e ML 2 :
. @) Inar:: Lula da Silva Wha among the following  waon
18. What did the Supreme Court of USA the Presidential election in Frang
do in Abortion R_iéhl:? . ] recently in April 2022?
(A) Nicolas Sarkozy

(B) Charles de Gaulle
(C) Marine Le Pen

(D) Emmanuel Macron .

[A) Reconsider same-sex relationship
(B) Personal decision .
(€) Ban

What wag the maximum

is the G-7 Summit, 2022 of earthquake in Afghanistan
ed? June 22, 2022 among the follc

[A) 69,
B) 7:1
C) 51
(D) 61

» Who supported India in ‘Prophet
Cnntroversy‘ case among the
following?

{Al China

(B) Gulf countries .
(C) usaA

(D) Uk




(B) Samant Kumar Goel in RAW
(C) Mohan Chand Sharma in 1B
(D) Hemant Karkare in CBI

31. Who will be the new CEO of the
NITE Aayog very soon among the
following?

(A) Rajiv Kumar
(B) R. P. Gupta
(C) Amitabh Kant

(D) V. Parameswaran Iyer
28. Who is Droupadi Murmu? 32.In which beach was shiprbome
A& 14th Pt dont. of i Weapon system tested recentlyp
(B) 15th President of India _
— B) Radhanagar Beach in Tamil ; ] i 3
(€) 12th President of India : Nadu / A Sl 8 @ PR %2, e ;
(D) 13th President of India () Konkan Beach in Maharashtra, 12 i

(A) Palolem Beach in Goa

(D) Chandipur Beach in Odisha o | R 72, 3

29. Who is Tapan Kumar Deka among _
the following? 33. What is correct for eligibility criteria o i . 1 ? S g

(A} Directo Opefaﬁ el Black in the Agneepath Scheme?
X {A) 12th passed only for Navy

(B} Only for males scheme .

(C) 8th passed only for Army

(D) 10th passed only for Air Force




38. Who is Olympian Manu Bhaker?
(4) Swimming champion
(B) Karate champion
(D) Athletic champion

P
e
= =

TR
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= | 7739, Who is Aneesh Gowda?
() Karate champion
{B) Athletic champion

(C) Swimming champion
(D) Shooting champion,

—

40, What is India going to do in Kabul?
(A) Establishing New Airways_
g | (B) Reopening Embassy

E Yo (C) Military Assistance
(D) Military Training

41. What type of support India is giving
to Sri Lanka to overcome from its
i crisis?

(A) Financial support,
(B) Defence support
Tz (C) Military support
7. The workers from which of the |
following areas hit the streets in

West Bengal demanding pmdmg (+42. When first set of Agniveers will join
wages under the MGNREGA? their service?

{4) Durgapur () June 23
©) Purulia (C) December 22,
D) Siligari (D) April 23

F‘i {D) To establish new airports
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(B) Volieyball
(C) Tennis
(D) Football
48, What percentage of -India’a 5G
subacriptions are expected by 2027
according to Ericsson?
(A) 39% .
(B) 45%
€) 20%
(D) 30%
49, When will the Free Trade Agreement
(FTA) between India and UK be
.'Mﬂs 20229 ‘expected to conclude?
A 87
(®) 120
€) 40
(D) 50

(A) Till Christmas

(B) Till Republic Day

(C) Till Independence Day
(D) Till Deepawali

50. Which of the following bodies affirms
46. m wﬂl m the role as Captain g
2 : firms’ operating profit growth slowed

in quarter-four in India?

(A) RBI.
(B) ADB
(€ MF
(D) IBRD




,{Q}'Ehwpusmsdnﬁamtphymcal
‘properties

53. Those substances which give hydroxyl
ions in water are called
W salt
il u (B) neutral
i (€} acid -
g (D) ban;
54, Nmmlsﬂuhmhaspﬂvalueof
{A}.__ 7.
(B) 14
© 3
(D) 5
55. Wbﬁt. rice and honey are the

ingamﬁn
{Bj earbnhydrates
(C) lipids :
I {B}m
) 56, The two f ‘of nucleic acids ar
e

(C) blood cancer
(D) skin cancer.
58. In water, ratio of oxygen
hydrogen by mass is

(a) 1:2

(B) 8:1,

(C) 1;:3

(D) 2:1

59. The metal present in combined state

is called.

() compound

(B) mineral

(C) solid

(D) None of the above.

60. Electron in its energy ground state

does not
[A) reside in orbit
(B) radiate energy.
(C) spin
(D) revolve

61. Ink spreads in water because of
effect.
(A) dipole moment
[B) osmosis
(C) vapour pressure
(D) diffusion

62. The atomic number of an element is
always equal to.

(A) electrical charge of the nucleus
(B) weight of the nucleus

(C) number of neutrons in the
nucleus.

(D) half of the atomic weight




uenmpaund?

(A) Sodium chloride
(B) Chalk

(C) Ammonia

(D) Milk,

69. A ‘breath test’ used by traffic police to
check drunken driving uses

(A) potassium permanganate-

(B) potassium dichromate-sulphuric
-acid

(C) turmeric on filter paper

(D) silica gel coated with silver
nitrate

70. The maximum number of electrons
that can be accommodated in a shell
depends on the formula

(A) 3n.
(B) 2n?
(© n?
(D) 2n
71. Which of the following is an
amorphous solid?
(A) Silicon carbide (SiC)
(B) Graphite.,
(C) Quartz glass (Si0,)
(D) Chrome alum

72. RAM stands for
(A) Read At-a-time Memory
(B) Random Access Memory,
(C) Random Access Money
(D) Ready to Access Memory
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75. Modem stands for
w I'ﬁ" * n Ia Ia
(B) Monetary D .

'li.-A"mﬂsntnﬁ:hunpdimm;
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the security of the
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80.

y 'll.

,w'a . Ty

- computer systems.

(B) An application for viewing
websites

(D) A program that Ccatalogues

websites

of the following is
an application software?

(A) MS-Word

(B} Awast antivirus,
(C) Adobe Photoshop
(D) Windows 7

not

is called the father of today's
computer,

(A) William Oughtred
(B) Charles Babbage,
(C) John Napier
(D) Blaise Pascal

A fault in a computer program which
prevents it from working correctly is

known as.
(A) biff
(B) strap
(€) boot
(D) bug.

DOS stands for
(A) Digital Operating System.
(B) Digital Open System

(C) Disk Operating System
(D) Disk Operating Session
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(D) Gas produced by fermentation of

84. During photosynthesis, the liberated

(B) carbon dioxide
85. What is biodiversity?

(A) Many types of flora and fa i
ey Ao

.

88. Which of the following fuels causes

minimum environmental pollution?
(A) Diesel

(B) Keroscne

(C) Coal

(D) Hydrogen .

89. Greenhouse effect means

(A) trapping of solar energy
earth’s upper surface

(B) increase of heat dae
atmosphere

(C) ecultivation of crops
greenhouse to conserve heat

(D) trapping of solar energy due to
carbon dioxide gases

90. What does ozone layer absorb?,

(A) Infrared rays
{B) Ultraviolet rays.
{C) Gamma rays
(D) X-rays

91. International Day for the Preservation

of Ozone Layer is celebrated on
(A) 16th September,

(B) 21st December

(C) 30th January

(D) 29th April

) R IE T i
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94. Due to which of the following
phenomena, the coloured glass
appears white when crushed into fine

(C) Total internal reflection
(D) Diffraction

95, While passing over an obstacle, a light
wﬂ@.ﬁyhmds&nmthcedgca of
th: obm:le into shadow region. The

nomenon is known as

(A) diffraction

M !ﬁ' <

(C) scattering

(D) polarization

QG. Which of the following is a commonly
uladmoda:’aiormanuclmreactor?

':(11.} hiam:detehumnhmes

{B] it is not cost effective
(€ itmmmizi:agmdmﬁon
(D) mumbmmpeﬂnﬂtﬂhﬂmm

It is easier to roll a stone up a sloping

road than to lift it vertically upward

because g

(A) work done in both is same but
the rate of doing work is less in
rolling

(B) work done in rolling a stone is
less than in lifting it

(C) work done in rolling is more than
in lifting

(D) work done in lifting the stone is
equal to rolling it

The absorption of ink by blotting

paper involves

(A) diffusion of ink through the
blotting paper

(B) siphon action

(C) viscosity of ink

(D) capillary action phenomenon

Light-year is a unit of
(A} life-period of Sun
(B) intensity of light
{C) time

(D) distance,

Mirage is due to

(A) depletion of ozone layer in the
atmosphere

(B) equal heating of different parts of
the atmosphere.

(C) unequal heating of different parts
of the atmosphere . '

(D) magnetic disturbances in the =
atmosphere




» | 106. Stars twinkle

fee! ﬂmmtﬁmthatbetween
concrete and feet

md is grainy but concrete is
smooth

sand is soft and concrete is hard

the friction between sand and
feet is less than that between
concrete and feet

104. In a rainy day, small oil films floating
over the surface of water show
brilliant colours. This is due to

Sy (&) diffraction
) e
fenLd (C) dispersion -
x (D) interference

105. On a clean glass plate, a drop of water
spreads to form a thin layer whereas
a drop of mercury remains almost
spherical, because
(A) cohesion of mercury is greater
than its adhesion with glass

(B) euhatmofwa&erugmﬂuthan
its adhesion with glass

I,'C] mmtyianmetai

(D) density of mercury is greater
’ than that of water

(A) because the refractive index of
the different layers of the
earth’s at.moaphare changes
continuously .,

(B) due to motion of thc earth

(C) because the intensity of light
emitted by them changes with
time

(D) because the distance of the stars
from the earth changes with time

107. It takes much longer to cook food in
the hills than in the plane
(A) because in the hills the
atmospheric density is low and
therefore
to the atmosphere

is high and therefore a lot of
heat is absorbed by the
atmosphere leaving very little
heat for cooking

because in the |hills the
atmospheric pressure is lower
than that in the plains and
therefore water boils at
a temperature lower than 100 °C
causing an increase in cocking
time

due to low atmospheric pressure
on the hills, the water boils at
a temperature higher than
100 °C and therefore water takes
longer to boil

108. Inside an aeroplane, flying at high
altitude
(A) the pressure inside is less than
the pressure outside
the normal humidity and partial
vacuum are maintained
the pressure is the same as that
outside
the normal atmospheric pressure
is maintained by the use of air
pumps.

<)

(D)

(B)
(©
(D)

a lot of heat is lost ©

because in the hills the humidity
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(A) the level of the water will first rise
(B) the level of the water will remain

111. Formation of rainbow is due to

~  (A) ionization of water droplets j__

(B) refraction and reflection of|
. mt by water droplets. )
(C) absorption of sunlight in minute
water droplets

(D) diffusion of sunlight through

112. Solar eclipse takes place when

(A)_the moon is between the sun an%’

moendoumtheonthel 2
wth“E

_nmandthc

dﬁ“ing ;

i

Ball bearings are used in cycles/
scooters, etc. to .

. In a railway track,

(A) reduce the friction between the
wheel and the axle .

(B) reduce the friction between the
ground and the wheel

(C) increase the friction between the
wheel and the axle

(D) None of the above

two successive

rails are joined end-to-end with a gap

in between them, because

(A) air-gaps are necessary for
bearing the weight of running
train,

(B) accidents due to expansion of
rails in summer can be avoided

(C) steel can be saved

(D) accidents due to contraction in
winter can be avoided

When hot liquid is poured into a thick
glass tumbler, it cracks because the

glass

(A) has a very low specific heat

(B) has low temperature coefficient of
expansion

(C) is a bad conductor of heat so only
inner surface of tumbler expands

(D) has high temperature coefficient
of expansion ;




122. Plastic bags containing potato chips
€ i with an antioxidant,

(4) hydrogen
(B) carbon monoxide
(€) oxygen
(D) nitrogen,

'123. Which of the following techniques can
be used to separate cream from milk?
(A) Centrifugation.
(B) Chromatography
(C) Filtration
(D} Distillation

124. When a bee stings immediately
.a paste of lime is put on the sting
because

{A) bee sting contains hydrochloric
acid that get neutralized with
Ca0 H

(B) it is a tradition and no chemistry
is involved in it

(C) bee sting contains formic acid
that get neutralized with CaO

(D) bee sting is made of a base

125. Which of the following is |
a combustion reaction? '

(A) Melting of wax
(B) Burning of petrol
(C) Boiling of water
(D) All of the above




